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According to the article, what is one similarity between people

in California and New York?

A. Both were negatively affected by gyms being shut down.

B. Both use much more electricity than people in many African
countries.

C. Both worry about how to burn more calories while
exercising.

D. Both are addicted to video games and, as a result, they spend

too much time playing them.

What does the word “mind-blowing” (line 7) mean, as it is used
in this article?

A. Unusually small.

B. Mentally challenging.

C. Affected by the wind.

D. Extremely large.

What does the word “gap” (line 7) mean, as it is used in the
article?

A. A difference between two groups.

B. A hole that may need to be filled.

C. A similarity between one side and another.

D. A connection between two or more groups.
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4. What does the phrase “to blow our tight carbon budget” (lines
23-24) mean, as it is used in this article?
A. To expand the carbon which is extremely expensive.
B. To emit the carbon budget even though it is not enough.
C. To exceed the allowed amount which is not much.

D. To absorb the carbon budget, and emit any excess.

5. What does the phrase “faced with an imperative” (lines 26-27)
mean, as it is used in the article?
A. Being taken lightly.
B. Having a bomb that may explode.
C. Being a sensitive matter.

D. Having a duty.

6. According to the article, how is Africa viewed in a contradictory

way?

A. The world would like Africa to become developed by using
the remaining carbon energy sources.

B. Africa should produce more carbon by increasing the
number of households with air conditioners.

C. The world would like Africa to become developed, but only
with low-carbon energy sources.

D. The gap between the amount of energy used by Western

countries and Africa should be reduced.
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7. According to the article, why is Africa the victim of climate
change?

A. Because Africa is strongly affected by climate change, even
though 48 African countries combined have produced more
COz than California. |

B. Because Africa is strongly affected by climate change, even
though Africa has produced only a small amount of COs.

C. Because sub-Saharan Africa tripled their electricity
consumption, even though their power comes from natural
gas-fired plants. '

D. Because the world is aiming for a zero-carbon future, but
African countries are being blamed for contributing most

CO2 emissions.

8. According fo the article, what is the carbon footprint produced
by Africa?
A. Less than one percent.
B. Forty-eight percent.
C. Less than ten percent.

D. Zero percent.
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11.

What examples are given of carbon-free electricity generation in

Kenya?

A. Hydroelectric power generation, solar power generation, and
geothermal power generation.

B. Hydroelectric power generation, solar power generation, and
wind power generation.

C. Solar power generation, wind power generation, and
geothermal power generation.

D. Hydroelectric power generation, wind power generation, and

geothermal power generation.

What does the word “figure” (line 90) mean, as it is used in the
article?

A. Graph.

B. Picture.

C. Shape.

D. Number.

What does “everyone” refer to, as it is used in line 91?

‘A. All the developed countries in Europe, Asia, and America.

B. All the countries of the world.
C. All the countries of Africa and other poor countries.
D. All the high-emitting countries which have an important

responsibility.
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12. According to the article, which of the following is true of the
relationship between Western countries and African countries?
A. Western countries are using African resources to generate

electricity, but organizations from Western countries will not
help African countries use these resources themselves.

B. Western countries are using African resources to generate
electricity, and organizations from Western countries are
also helping African countries use these resources
themselves.

C. | Western countries are trying to stop using African resources
to generate electricity, and organizations from Western
countries are also helping African countries use these
resources themselves. '

D. Western countries are trying to stop using African resources
to generate electricity, but organizations from Western
countries will not help African countries use these resources

themselves.
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13. This article is a written version ofa spoken presentation. The

14.

presenter is R. M. Mutiso. Based on the article, which of the

following best describes who R. M. Mutiso is?

A.
B.
C.

D.

She is an expert in energy and development from Nigeria.
She is an expert in energy and development from Kenya.
She is an expert on politics and governmental affairs from
Kenya.

She is an expert on politics and governmental affairs from

Nigeria.

Which of the following would the author of this article most

likely agree with?

A.

The poorer countries of the world must be allowed to
develop economically.

The richer countries of the world should decide for
themselves how they will help the poorer countries.

The poorer countries of the world need to take more
responsibility for cutting carbon emissions.

The richer counties of the world will suffer the most from

climate change.
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15. Which of the following best states the main point of this article?

A. Developed countries of the world need to take the lead in
cutting carbon emissions. They can learn from countries in
Africa such as Kenya, Which use more renewable energy
sources. The countries of Africa are now in a better position to
adapt to climate change and cut carbon emissions.

B. Developed countries of the world, the countries of Africa, and
other poorer countries must cooperate in order to cut carbon
emissions. In addition to all countries cutting emissions, the
developed countries need to help poorer countries build the
infrastructure they need to adapt to climate change and continue
to cut emissions.

C. Developed countries of the world need to take the lead in
cutting carbon emissions. However, the countries of Africa and
other poorer countries must be allowed to produce more
emissions, so that they can develop economically. These
countries will then be in a better position to adapt to climate
change and cut emissions in the future.

D. Developed countries of the world, the countries of Africa, and
other poorer countries must cooperate in order to cut carbon
emissions. It is important that no countries unfairly try to
increase their carbon emissions in order to develop
economically. Through cooperation, all countries will be in a

better position to adapt to climate change and cut emissions.
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1. These days, many junior high school students and even
elementary school students use SNS. In your opinion, is it

dangerous for children to use SNS? Why or why not?

OR

2. Should cedar trees (#£ D) in Japan be cut down in order to
reduce pollen allergy (T6#3%E) ? Why or why not?
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